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some part of Rs 18500 was lent at the rate of 24% per annum simple interest and the
remaining part at the rate of 10% per annum simple interest. The total interest received

after 5 years 1s Rs 500 less than the investment. \What is the ratio of money lent at the
rate of 24% and 10%7

18500 3T T TS [ZTT 24% Ul T TR &0 TR 3R T HET 10% Ul T TR0
S B 6 IR IUR G171 | 5 T4 & a6 UId S oo Hd% | 500 00 HH T | 24%

3R 10% @1 &X IR YR (GY 7T & &1 3191d o491 82

12 025
18 0 25

2512
2518
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A batsman in his 12th innings makes a score of 63 runs and there by increases
his average scores by 2. What is his average after the 12th innings?

Qe Scaterol 30T 1241 URT H 63 I DT IR §1d1 & 3R SUD 3714 TR H 2 Dl
qfe gt 81 12T ot & 1€ 7T S T 872

39

41

49

87
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In a rectangle, the length is twice the breadth and the perimeter of the rectangle
Is 48 cm. The area of the rectangle is:

Udh 3 H, Tdls dISTs ®I Rl g 3R 31Td &1 URAY 48 JH! g1 31Id B
&Ahd T 82

288 cm?
128 cm?
512 cm?

144 cm?
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A policeman, while running to catch a thief, is 114 m behind the thief. The
policeman runs 21 m and the thief runs 15 m every minute. In what time will the
policeman catch the thief?

U gferaddl, IR &l ddhs- & U arsd 999, IR 9 114 Hiex dia
gferaed! ude e d 21 diex drsar g ik IR 15 diex aisdr g | gfaaadl 9R
&I fbdd 99 o gshs ?

18 minutes

17 minutes

19 minutes

16 minutes
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The average age of fifteen persons i1s 32 years. If two more persons are added, then
the average I1s iIncreased by 3 years. The new persons have age difference of 7 years.

The age (In years) of the younger among the new persons Is:

Ugg cfeadl & 3id 31 32 98 ¢ | fe & iR cafaaal & 'nfe foear oirar 8, o o 3
gy §¢ WAl ¢ | U Afgadl 3 7 a9 &1 3R g1 AU Afgadl J BIc 3l 31 (@8 H) T

20
208

24
61
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If each side of a rectangle Is increased by 22%, then its area will increase by:

¢ 3Mad @ U@ Yol H 22% @1 i 8idl ¢, dl SUDI A6 Fe

48.84%
20%
44%
46.65%
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|D'f4ﬂ4f

: i s
(0.7) +0.7T=04+(04)

What 1s the value of

(0.7) —(0.4Y
3 . - P HH T BT 2
(0.7 +0.7x0.4+(0.4)

0.3
0.11
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Find the compound interest for two years compounded annually on a sum of Rs.
9000 at the rate of 20% per annum?

5000 ¥U Pt A TR 20% U I DI R I aINd =9 I Jgiford <f a9 & fou
Ihdla TS JTd DIIT?

Rs. 2200

Rs. 3000

Rs. 4400

Rs. 4000
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A number when divided by 9 leaves 8 as remainder. What will be the remainder
when double of this number is divided by 4 7

B! AT DI 9 I fAUTITT B IR ANDd 8 fAdI o1 39 AT & GRH Dl 4 J
fUTISId B IR AV d 1 gRIT?

12

13
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52 = [36 — {24 — (32 -54 =9 X 3)}] =7
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A train passes over a 400 metre long bridge. If the speed of the train is 30 m/s
and the train takes 20 seconds to cross the bridge, the length of the train in
metres is

U ¢ 400 HieR el U Gal Bl IR Bdll 81 afe &1 &1 1fet 30 Hiewdids § iR
¢ Gl @l GR 3 I 20 b T G oldl o, Al o Dl ddlg Hiex I &1 5?2

200

400

600

800
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In how many years, the compound interest on an amount of Rs. 19200 at the
rate of 10% p.a. will be Rs. 40327

- Il T, 19200 YA 10% dIftie dehdla A6 & & A 4032 3YU Gl SI1UI?

1

1 Syears
1

25 years

2 years

3 years
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A can do a piece of work in 25 days which B can complete in 20 days. Both
together labour for 5 days and afterward A leaves. How long will B take to
complete the remaining work?

ATD H1H 25 &A1 H B Gbdl g o/ B 20 &A1 H U1 HR Ihdl 5| G-l b 1Y 5
f&i I S P § SR dlc § A BIS adl o | AY DT Dl G 6 d B DI fhdHl
TqHY TTAT?

20

15

11

10
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If a certain sum becomes 3 times in 6 years at compound interest, then in how many years, it will become 81 times?

qic dshdl odTe UR 6 a9l H U [Hidd M2 3 71 81 &t 8, di fdod- aui |, I8 81 1 81 SIeafl?

24
23

26
28
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The average age of 6 members of a family i1s 25 years. If the youngest member of the
family 1s 15 years old, then what was the average age (in years) of the family at the time
of the birth of the youngest member?

U UNER & 6 Tal B 3H14d 319 25 g4 g1 47 UlNaR &1 9ad Sicl 96 15 98 &1 3, dl
T9Y ©F 39 & 96 & oFF & U5 URGR @1 3{19d 3 (@91 5) & 417

10
12

19
11
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Which value among 3°*, 27 and =¥ s greatest ?

© SR 11 HYDHESI8 ?

pl #
S e %
_1 7 -

all are egual
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A boat travels 60 kilometers downstream and 20 Kilometers upstream in 4 hours. The
same boat travels 40 kKilometers downstream and 40 Kilometers upstream in 6 hours.

What is the speed (in km/hr) of the stream?

U® 19 60 foamieR guare 3R 20 f&HamHel Haide 4 9¢ 5 i ¢1 9ef 71d 6 °9¢ | 40
freer 3uare 3R 40 e SHeiae Il ¢ | YR &1 ([T / ger #) 1fa F g2

16
22

23
20
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A trader buys two articles for Rs 4000 each. While selling if he gains 12.2% on one and
losses 20% on the other, then what will be the overall loss percentage?

U® SAMIRT 4000 TUU H G 93g Wiiadl ol §9d 990 3R 39 TS TX 12.5% P 1Y 3R
IR TR 20% @1 JH9H gidl g, a1 95 JH9 Uiaeid a4d1 grT?

3.9
2.4

3.75
475
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Als 20% more efficient than B. If B alone can complete a piece of work in 12 days, then A
alone can complete the same work in how many days?

A, B ®I g@1 H 20% 9% A ¢ IC B 3Hdhd o @& 12 Gl § W e dar g, dl A
3fthc 34! B B [dhad 161 H O &< Godl 872

10
12

1



The area of an equilateral triangle is SES.JE.T cm?. Find its circum radius (iIn cm)?

/@ MM,@,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /
Ush GHATg AYS & &A% 36 /5 THI2 T | 393! uRad & Hear (FHT J) J1d Sifeg?
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A boat goes 18 km downstream in 1.5 hours and it takes 2.5 hours to cover a distance of
12 km upstream. What is the speed of boat in still water?

UH A9 1.5 9¢ 7 18 fHH «R1 & W1y 9141 € 3R ¥R & Uiapa 15 il sl gl g s 8
259C WAl g | T oId | A1d DI TIid 71 g2

9 kmph
9.5 kmph
12 Kmph
12.9 Kmph
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Simplify 3x(4y + 7x) - x(14 - 5)/3 - 12xy

T DS 3x(4y + 7X) - X(14 - 5)/3 - 12xy

NTPC CBT 2 PREVIOUS YEAR

11x2 - Bx
11x2 + 5x
21x% + 3x

21x2 - 3x
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Dhoni averages 31 runs in 31 matches. How many runs should he score in the
next match to increase his average 27

31 Hdl H 411 BT 3{d 31 A 51 30 3{1¥d H 2 [ Dl i D o8 39 3{Tel Hg

H fdhd= I 9911 BRI?

NTPC CBT 2 PREVIOUS YEAR

101
95
92

98
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[GU 7T 3IH ST DT U™ JTd DioIU

Find the range of given data

2,9,8,29,43, 23, 74, 87, 56

NTPC CBT 2 PREVIOUS YEAR

80
43
85

87
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Find the mode of 3,6, 5,4,3,4,3,7,3,1,3

3,6,5,4,3,4,3,7,3,1, 3Pl dgcid Jld PifoTu

NTPC CBT 2 PREVIOUS YEAR
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—y ) e i R w O ™

gt fob et agYS I d1gl HIUT45° § dl 39 ag Yol H fahull i AT J1d oy |

If the external angle of a polygon is 45° then find the number of diagonal in this

polygon.
NTPC CBT 2 PREVIOUS YEAR

20
40
15

30
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A sum of money invested at compound interest amounts in 3 years to Rs.2,400
and in 4 years to Rs.2,520. The interest rate per annum is:

qehdlg SISl UR 1A Bl 15 ¢RI 3 a8 H 2,400 39 3R 4 ¥ H 2,520 394 Gl
STt & 1 Ui 9y =47 &R &:

NTPC CBT 2 PREVIOUS YEAR

12%
6%
5%

10%
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What is the compound interest of 3 years with annual compounding at an
annual rate of 20 percent on principal of Rs. 15,0007

15,000 39U & AU UR 20 U= ol aifties ar I qiitie =9 I Jgiford 3 9y
D1 debdla TSl fhd-l 572

NTPC CBT 2 PREVIOUS YEAR

Rs. 10,720
Rs. 11,520
Rs. 9,980

Rs. 10,920
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If 8 CosB + 15 SInB = 17, then find the value of 2 SecB + 3 Cot6

Oy

gfc 8 CosB + 15 SinG = 17, dl 2 Secd + 3 Cotd &I A JTd DIGIU|

NTPC CBT 2 PREVIOUS YEAR

120/11

1

110/17

117/20
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Two pipes P and Q can fill a tank in 28 and 35 minutes respectively. If both are
opened together and at the end of 10 minutes, P is closed, How much longer

will the remaining tank take to fill?
Gl OISy P 3R Q AT 28 3R 35 fide 3 U ¢ HR Idhd © | dic Sl &I U
Ay AT SdI g AR 10 e S e P Hide fHFarodi g, A (Y Th B HRT H

[ d=T 9HT ATAT?
NTPC CBT 2 PREVIOUS YEAR

12.5 min

15 min

11.5 min

10.5 min
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Work done by (x + 4) men in (x + 5) days is equal to the work done by (x - 3)
men in (X + 20) days. Then the value of x is:

(X + 4) NI gRT (x + 5) fa=1 T fobar a1 &/t (x - 5) G291 gRT (x + 20) fa H fhd
T S & G161 ©, dd x HI d1 o

NTPC CBT 2 PREVIOUS YEAR

20

25

30

15
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A can complete a piece of work in 15 days working 8 hours a day. B can
complete the same work in 8 days working 10 hours a day. If A and B work
together, working 6 hour a day, then the work will be completed in:

A TS B Bl Uldica 8 ©¢ HI1H HRd gU 15 el H U1 HR Ahdl g | B 3T B D
10 ¢ Ufdfaa & Hrab 8 Al T URT HR Jbdl o | dfc A 3R B fi@dHR 6 ©c
Ufdfcd o HRd g, dl DI fbd- 99 | U1 GIM?

NTPC CBT 2 PREVIOUS YEAR

12 days
6 days
9 days

8 days
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P and Q are at a distance of 240 km from each other at 9: 00 a.m. After 1 houir,
P starts moving towards Q at a speed of 25 km/hr. At 11 a.m. Q starts moving
towards P at the speed of 18 km/hr. At what time (in p.m.) will they meet?

P 3R Q Udlg 9 : 00 §9i Udb &R I 240 fhdl &l A IR g1 1 €< U, P 25 [l
g2T B! T A Q DI 3R F6-1 = PR odl ol Udlg 11 dof Q 18 fhdieer & 1fd |
P &I 3R da-1 = HRdl ¢l d [y IH9T (3{WRI7) Hcii?

NTPC CBT 2 PREVIOUS YEAR

6
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| reach my office 40 minutes late if | walk fromm my house at the speed of 3
km/hour. | shall be 30 minutes early if | walk at the speed of 4 km/hour. Find the
distance between my house and the office in km.

gfc T 319 'R 4 3 fdhHider ot 1fd d gadr g df J ou- e 40 F-e X 4
U§€ETEI z qﬁ4%ﬂ1ﬁaaaﬁ4 [ I al | 30 e ugd 3T S| fhH 8§ 3R

C

TR 3R By & did b gl o1 J1d Difon

NTPC CBT 2 PREVIOUS YEAR

11T Km
12 Km
13 kKm

14 Km
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The ratio of the total surface area and volume of a sphere is 2 : 7. Its radius is:

U Tdl DT D YN &FABd 3R A Bl HUId 2 : 7 © | 39T 54T 6
NTPC CBT 2 PREVIOUS YEAR

10.5cm

7/ cm

10 cm

7.5 cm
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Find the distance between the parallel side of a trapezium whose area is 399
square cm and the sum of parallel sides is 57 cm?

gfc gt Idsl BT &ahd 399 T JHT 3R JH{AR YSI3{l &l grT 57 Il 5, dl
FHITR YoIrs3fl &I did oI g2t [dba-l gii?
NTPC CBT 2 PREVIOUS YEAR

10 cm

14 cm

17 cm

27 cm
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The rational number with recurring decimal representation 0.124 is:

3Tadf e2riad fA=901 0.124 & 91y dbai1d ST o

NTPC CBT 2 PREVIOUS YEAR

33

41
330

43
330

a1
990
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4 3P| P B IH WRSAT 1A DIFIT, Sl 12, 15, 20 3R 35 J GUGHT [dHTY B
The greatest number of 4 digit exactly divisible by 12, 15, 20 and 35 is

NTPC CBT 2 PREVIOUS YEAR

9999
9732
9842

9660
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HCF of (x? + 4x + 4) and (3x% - 12) is
(X2 + 4x + 4) 3R (3x2 - 12) BT HogdH JHYTH o

NTPC CBT 2 PREVIOUS YEAR

X+ 1

X+ 2

X+ 3

X+ 4
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A student multiplied a number by 4/5 instead of 5/4. What is the percentage
error in the calculation?

U et 3 e S= o1 5/4 & -IF TR 4/5 1 70N foHar| ToET H ufawrd Ffe @
87

NTPC CBT 2 PREVIOUS YEAR

40%

45%

36%

32%
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Raju scores 55% of the total marks in the exam and still fails by 60 marks, the
passing percentage of the exam is 65% then what are the maximum marks of

the exam?

MS] H GRIET T pd bl Bl 55% U fhar 3R b ot 60 il I 3lUl T,
URI&T @1 I0] UIIRIA 65% © dl URIET & SYdhaH 3P HT 67

NTPC CBT 2 PREVIOUS YEAR

500

600

1200

800
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Two fair dice are thrown independently by a player and needs a total of 5 to win
the game. What will be his probability of winning the game™?

U RIATS] GRT &l MR UR] WA &4 I b Slld g 3R Jd Sild- & U o
AT 5 Pl AHEIDdl o | 3D JAd Sild- i Utiidbal ar sRit?

NTPC CBT 2 PREVIOUS YEAR

2/3

1/3

1/5

1/9
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Amol is a dishonest shopkeeper who sells sugar at a cost of Rs. 18/kg which
actually cost him Rs. 20/kg. When an examiner examined carefully he found out

that he actually using 800 grams weight instead of 1 kg. What is his actual gain

3HId UP dgHM GPFER g Sl 18 3UA/fHUT UR TI-! §ddl g oIl aRdd H 3 20
SUY/fHIT Ul g | STd U WRI&d - <49 I STl dl Udl 9l [ dg dadd | 1 1
& oI 800 UTH dold &1 IUANT B 38T o | ITD] aRddDH dIH AT 81 Ufd=rd o

g? NTPC CBT 2 PREVIOUS YEAR

15%

6.25%

25%

12.5%



